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Cluster: 0054 ptr; resid: 0.38; r/c: 27/62

x.range

upstream meme PSSM #1; e=630

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=2.1e+03

1 3 5 7 9 111 3 5 7 9

●

●

●

●

●

●

●
●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

10438

14449

14856

15338

2032

31234

33208
38929

40791

41411

42897

44799
46342

47361

47730

48256

48538

48708

49309

49502

49871

50328

5156

52367
54598 5811

6402

−500 −400 −300 −200 −100 −1
48256−0.21
14449−0.26
42897−0.70
10438−0.87
44799−1.10
48538−1.25
14856−1.52
40791−1.55

5156−1.67
47361−1.84

6402−1.89
31234−1.98
48708−2.29
49871−2.35
41411−2.36
49502−2.53
54598−2.54
15338−2.79
33208−3.03

5811−3.04
49309−3.08
52367−3.29
38929−3.40
50328−3.46
46342−3.64
47730−3.69

2032−3.92
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